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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	B  
	Easy  
	PS 2: Properties of Matter  
	SPI 0807.9.1 Matter and Atoms [99150]
	D101994

	2
	C  
	Moderate  
	PS 2: Properties of Matter  
	SPI 0807.9.1 Matter and Atoms [99150]
	D101993

	3
	C  
	Hard  
	PS 2: Properties of Matter  
	SPI 0807.9.1 Matter and Atoms [99150]
	D102947

	4
	B  
	Easy  
	PS 2: Properties of Matter  
	SPI 0807.9.6 Particle Motion [99155]
	D103604

	5
	A  
	Moderate  
	PS 2: Properties of Matter  
	SPI 0807.9.6 Particle Motion [99155]
	U56081

	6
	B  
	Hard  
	PS 2: Properties of Matter  
	SPI 0807.9.6 Particle Motion [99155]
	D65120

	7
	A  
	Easy  
	PS 1: Chemical Reaction  
	SPI 0807.9.3 Elements vs Compounds [99152]
	D104275

	8
	D  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.3 Elements vs Compounds [99152]
	D103723

	9
	C  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.3 Elements vs Compounds [99152]
	D104276

	10
	D  
	Easy  
	PS 1: Chemical Reaction  
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86468

	11
	C  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86284

	12
	A  
	Hard  
	PS 1: Chemical Reaction  
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86169

	13
	A  
	Hard  
	PS 2: Properties of Matter  
	SPI 0807.9.1 Matter and Atoms [99150]
	D102000

	14
	B  
	Moderate  
	PS 2: Properties of Matter  
	SPI 0807.9.6 Particle Motion [99155]
	D106170

	15
	C  
	Hard  
	PS 1: Chemical Reaction  
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86171
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	Question 1 of 15

	Atoms with a complete shell of valence electrons tend to be _______________ inert.

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	socially

	[image: image2.wmf]  
	B.
	chemically

	[image: image3.wmf]  
	C.
	visually

	[image: image4.wmf]  
	D.
	mechanically
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	___________ are negatively charged particles that orbit the nucleus of an atom.

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	Protons

	[image: image6.wmf]  
	B.
	Neutrons

	[image: image7.wmf]  
	C.
	Electrons

	[image: image8.wmf]  
	D.
	Quarks
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	Ammonia and hydrogen chloride are both compounds. When they combine, ammonium chloride is formed. Which of the following compounds is NOT made from ammonium chloride? 

	 
	 
	 
	 
	 

	[image: image9.wmf]  
	A.
	fertilizers

	[image: image10.wmf]  
	B.
	dyes

	[image: image11.wmf]  
	C.
	food preservatives

	[image: image12.wmf]  
	D.
	cough medicines

	 


	Question 4 of 15

	A book, a pencil, and a penny are all examples of solids. There are two important characteristics that explain the way the atoms are arranged. What are those two important characteristics?

	 
	 
	 
	 
	 

	[image: image13.wmf]  
	A.
	Solids have a definite shape but varying volume.

	[image: image14.wmf]  
	B.
	Solids have a definite shape and a definite volume. 

	[image: image15.wmf]  
	C.
	Solids do not have a definite shape and have a definite volume. 

	[image: image16.wmf]  
	D.
	Solids take the shape of the container and have a definite volume.
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	Which of the following situations would cause a decrease in motion of the molecules? 

	 
	 
	 
	 
	 

	[image: image17.wmf]  
	A.
	liquid water changing into ice 

	[image: image18.wmf]  
	B.
	ice changing into water vapor 

	[image: image19.wmf]  
	C.
	ice changing into liquid water 

	[image: image20.wmf]  
	D.
	liquid water changing into water vapor 
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	Why would a reaction take place faster at a higher temperature?

	 
	 
	 
	 
	 

	[image: image21.wmf]  
	A.
	More mass is added to the reaction.

	[image: image22.wmf]  
	B.
	The particles of the reactants move faster.

	[image: image23.wmf]  
	C.
	The temperature changes the substance.

	[image: image24.wmf]  
	D.
	The temperature causes a drop in the rate of absorption.

	 


	Question 7 of 15

	Elements in group 1 of the periodic table are metals with one valence electron. These elements are called ___________ metals.

	 
	 
	 
	 
	 

	[image: image25.wmf]  
	A.
	alkali 

	[image: image26.wmf]  
	B.
	alkaline
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	C.
	transition

	[image: image28.wmf]  
	D.
	noble
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	Which of the following is NOT a common diatomic element that uses a covalent bond?
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	A.
	oxygen

	[image: image30.wmf]  
	B.
	nitrogen

	[image: image31.wmf]  
	C.
	hydrogen
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	D.
	calcium
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Use the Periodic Table of Elements to answer the following question.

	 

	Which of the following is NOT a noble gas?
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	A.
	helium

	[image: image35.wmf]  
	B.
	argon

	[image: image36.wmf]  
	C.
	chlorine

	[image: image37.wmf]  
	D.
	xenon
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	The given equation represents a chemical reaction occurring in plants.
[image: image38.png]6002+ 6H:0 —————> CiHOs + Oz





	 

	What is wrong with the reaction above?

	 
	 
	 
	 
	 

	[image: image39.wmf]  
	A.
	There are two reactants in the reactions.

	[image: image40.wmf]  
	B.
	Two products are formed in the reaction. 

	[image: image41.wmf]  
	C.
	The reaction is taking place in the presence of light. 

	[image: image42.wmf]  
	D.
	The mass does not remain constant during the reaction.
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	Which of the following represents a physical change?
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	A.
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	B.
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	C.
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	D.
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	Question 12 of 15

	The equation given below shows an unbalanced chemical reaction between copper and silver nitrate.
[image: image51.png]Cu +p AgNO3 — q (Ag) + Cu (NO3)z





	 

	What should be the value of p and q in the equation if matter is conserved during the reaction?
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	A.
	p=2 q=2
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	B.
	p=2 q=3
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	C.
	p=3 q=2
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	D.
	p=3 q=3

	 



	Question 13 of 15

	[image: image56.png]The Periodic Table of the Elements

Period

Group
[ WV
i o
=z ARARBAR
M HHHHBHE
AR NARBEERR
ol HEEEHHE
sllzEEEEEEEEEEEE =
£ K B B K A P 1 Y
AAEAERRERARRARRAR
HHEEHEEBHEHEBHBEBEEB
AAREEEERRE )
i H NS E S |
o
e M BB EHEEEEE
e O ERARERRAREERARE
s L LB L L0 I L Lo e L & L e N





Use the Periodic Table of Elements to answer the following question.

	 

	The element Iron, also known as Fe, has an atomic number of 
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	A.
	26

	[image: image58.wmf]  
	B.
	30
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	C.
	37
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	D.
	55
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	Water has a boiling point of ___________ degrees Celsius.
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	A.
	0
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	B.
	100
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	C.
	150
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	D.
	212
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	A student has to balance the given chemical equation.
[image: image65.png]FaS +_ HCl = FeCly + HpS





	 

	Which of these should the student focus upon for balancing this equation? 
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	A.
	number of atoms of FeS 

	[image: image67.wmf]  
	B.
	physical properties of FeS

	[image: image68.wmf]  
	C.
	number of all the atoms in the equation 

	[image: image69.wmf]  
	D.
	physical and chemical properties of products
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